ERBE UG EDRBET OB E % (TR28%F4A1BEHE)
TREERRR R (—)

=g %ﬁgﬂgiﬁﬂiﬁjﬁ?:ﬁi &t NER Bét 1) b oD B &
RELGOWH S ECD) B 0% [BRE
ES 32
- F = (BEh) 7
18 | EZ OB 40 8.6
F = ((R1EEM) _ 4(1) %
5 2 35 80| 17.3 ﬁ%
2% |EEOWH 1|  se TEEE !
g 40
FE 153
& (FEh) 13
F&E (REEM) 4
Iﬁ(ﬂ‘é%i) 3 %
3 |TEOBE 196| 423 %%Eﬁgg g 106| 423 | E
& (ZER) 10 L
FERED) 1
FERHESEEETE) 1
it 196
nE 25
EFi 55
F 5 (3Em) 4
1 T DT HES 3
AR HEORE 103 222 s EEm 2 =
FHR(EED 4 £
Fer(TEES) 2| 140 [ 302 | ##
FH#GES) 4 &
i 103 B
1 SRR Fi& 3
2 RE#LTEBRETONER HE 31
58 (DT 37 80 |t 3—FK 1
3 MEHRDEDEE 55 _ 2
g 37
R 20
1 BROBTS XE 3
2 XMROBHE ) fh &S BS 1
3 HHLEREITOME EREFE 1 ]
D E DT & 4 B
6k (4 EESZEDEHZROER 37 80 [EEE 1 371 80| £
D BT BEE 1 *®
EEBE 4
EHERRE 1
ER _ 1
g 37
1 BB DT HE 7
2 SHBEEEDEE HEFE 1 &
7% |3 EHMLEFKEITOIERES 10 22 [EERE 1 10 22| E
SENEHFRDR DB SHEHEE _ 1 #*®
g 10
& Hi 463 100




REEF FHRAE R

= %ff&ﬂllé%ﬁﬂﬁﬁj%iliﬁi &%t MR
i @N) %) B @N)
18 | R LB E TSR 0 0 ]
5 0
185 DAL R LB E
2R\t R BETONS o 0 >
E3: 5
B DAL R HHRERE ) @E%E :
= EDHEE REEZE W TR 1
3R LS rxHETOBE 15 819 g i
BEe ] 3
i 15
%%%,:E\ 13
HICE R ORAER SE8R s 4
4R |EREETOEBETIW 32 68.1 Ji?%é 5
B BEE E
B 32
& &t 47 100
BERGHE
= %fr&ﬂuigﬂiﬁjﬁl;ﬁi &t MR
T ORRLGSME @N) %) Bz @N)
18 | RS LB E TSR 0 0 ]
i 0
UiE (EExE) 1
2k |HEETEHFOBE 3 750 [(ER(EETH) 2
g 3
RS L RETSEEE
S m=pms o 00 -
E——— - TE i
H RS L BE TS
W |lexEzoBE | 250 1
& it 4 100




